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1. TlacnopT KOMILIEKTa KOHTPOJIHHO-0I[€HOYHBIX CPEICTB

B pesynpraTe ocBoeHms yudeOHOUW muctnmmiinHbl OI'CD.03 MHOCTpaHHBIM
S3bIK B MPOQPECCHOHAIIBHON JEATENBHOCTH OO0Yy4Yaloluiics JOKEeH o00s1a1aTh
npeaycmorpeHabiMu @PI'OC CIIO mno cneumansHOocTH 23.02.07 TexHuueckoe
oOCITy’>)KMBaHME W PEMOHT JBUTaTeNied, CHUCTEM M arperaroB aBTOMOOUJIEH
cnenytomumu yMmeHusamMu (Y):

Y1 - nonHumath OOWIMNA CMBICI YETKO MPOU3HECEHHBIX BBICKA3bIBAHUM Ha
H3BECTHBIC TeMBI(MpodecCuoHaIbHbIE U OBITOBHIC);

VY2 - noHuMaTh TEKCTHI Ha 6a30BbIC PO(GECCHOHATIBHBIEC TEMBI;

VY3 - yyacTBOBaTh B AMAJIOraxX Ha 3HAKOMBIE OOIIME U MPOPECCUOHAIBHBIE TEMBI;
Y4 - cTpouTh NpOCTHIE BBICKA3bIBAaHUS O ceO€ M O CBOEH MPOPECCHOHAIBHOU
NEeSATEIbHOCTH;

VY5 - kpaTko OOOCHOBBIBATb M OOBSICHUTH CBOU JEUCTBUS (TEKylIUe W
IJIaHUPYEMBIE);

Y6 - nucarh NMpoOCThIE CBSI3HBIE COOOIIEHHS Ha 3HAKOMbBIE WJIM WMHTEPECYIOIINE
1po(hecCUOHATILHBIE TEMBI

3HaHusAMHU (3):

31 - nm§paBwia TMOCTPOEHHS TMPOCTBIX M CIOXKHBIX IPEUIOKEHUH  Ha
1po(hecCUOHATILHBIE TEMBL;

32 - oCHOBHBIE OOIIEYNOTPEOUTENbHBIE TIaroiibl (ObITOBasE U MpodeccruoHaIbHas
JICKCHKA);

33 - JEKCUYECKH MHUHUMYM, OTHOCSIIMMICS K ONMCAHUIO MPEAMETOB, CPEIACTB H
MPOLIECCOB MPOPECCUOHAIBHOM AESITEIbHOCTH;

34 - 0cOOEHHOCTH MPOU3HOIICHHS;

35 - npaBuIIa YTEHUS! TEKCTOB MPOdECCHOHANTBHONW HAIIPABIEHHOCTH;

KOTOpbie (QOpMUPYIOT NPOPecCHOHAIBHYI) KOMIETEHIHMI0, U O0IIMMU
KOMIIETEeHIUSIMHU
OK 01 Bribupats cnocoOwl pemieHus 3agad npohecCuOHATbHOM AESITeIbHOCTH,
MPUMEHUTENIBHO K Pa3JIUYHBIM KOHTEKCTaM
OK 06 IlposBasTh IpaxaaHCKO-NATPUOTHUYECKYIO IMO3ULHUIO, JEMOHCTPUPOBATH
OCO3HAaHHOE MOBEICHNE HAa OCHOBE TPAJAMIIMOHHBIX O0IIEYEIOBEUECKIX IEHHOCTEN
OK 10 ITonp30oBatbcst mpohecCHOHATBFHON JOKYMEHTAMEH Ha rOCy1apCTBEHHOM U
WHOCTPAHHOM SI3bIKE

2. OuennBanue ypOBHS OCBOCHUS YUEOHOM TUCHUIIMHBI

[IpenMeToM oOlleHMBAHUS CIIyKaT yMEHUS W 3HaHMS, MPETyCMOTPEHHbIC
dI'OC CIIO no auctummune OI'CHD.03 NHocTpaHHBIN S3bIK B TPOQecCHOHaTbHON
NesATEeIbHOCTH, HaNpaBlieHHbIE Ha (OpPMHUpPOBaHUE OOIIMX U MPO(EeCcCHOHATBHBIX
koMmrieTeHiuid.  IIpomexxyTtouHass arrectands 1O  y4eOHOM  JUCIUTUIMHE
npoBoauTcs B popme auddhepeHIIupPOBAaHHOTO 3a4eTa.



4

KOHTpOJIl) U OHCHUBAHUE YPOBHHA OCBOCHUS y‘lEﬁHOﬁ AUCIHUIIJINHBI 110 TEMaM (pa3ue.11aM)

Taoaunna 1

JJieMeHT y4eOHOoil
AUCIHUTIJIMHBI

(I)OprI H METOAbI KOHTPOJIsA

Texkymuid KOHTPOJIb

IIpoMeskyTOYHAS aTTECTAIUSA

dopmMa KOHTPOJIS

IIposepsiembie OK,
Y,3

dopma KOHTPOJISA

IIposepsiembie OK,
Y,3

Tema 1. Cuctema obpazoBanus B
Poccun u 3a py6exxom

CamocrosTenbHas pabora
JlomartiHsisi KOHTpOJbHas padboTa

V1,V¥2,V¥3,V4, V5, Ve;
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 2. HWcropus pa3BuTHs

VYcerHblii onpoc
CamocrosiTenbHas padbora

V1,V¥2,V¥3,V4, V5, Ve;
31,32,33,34,35;

R Jlomamnss koutponpHas padora | OK 01,0K 06, OK 10
Tema 3. DKoJIOrM4ecKue | Y CTHBIN Onpoc V1,V¥2,V3,V4,V5, V6;
npoOseMbl  aBTOTpaHCTOPTHBIX | CamocTosATeNbHAs paboTa 31,32,33,34,35;
NPEAIPUATUI JlomamHsis KoHTposbHas pabora | OK 01,0K 06, OK 10

Tewma 4. 310poBBE U CHOPT

YcTHBII onpoc
CamocrosrenbHas pabora
JlomarHsisi KOHTpOJbHAs paboTa

V1,V2,V¥3,V4,V5, V6;
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 5. [IyremecTBus Ha
TpPaHCIOPTE.

CamocrosiTenbHas paboTa
JlomarHsisi KOHTpOJbHas padboTa

V1,V¥2,V¥3,V4,V¥5, Ve;
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 6. Mos Oynymas
npodeccusi, Kapbepa

YceTHBI onpoc
CamocrosrenbHas pabora
JlomarHsisi KOHTpOJbHAs paboTa

V1,V2,¥3,V4,V5, V6,
31,32,33,34,35;
OK 01,0K 06, OK 10

Tewma 7. TpaHncriopTHbIE
CpEICTBa.

YceTHBII onpoc
CamocrosiTenbHas padoTa
JlomMalHssi KOHTpOJIbHAs paboTa

V1,V¥2,V¥3,V4, V5, Ve;
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 8. OCHOBHBIE KOMIIOHEHTBI
A MEXAHU3MBI aBTOMOOWIIA.

YceTHBI onpoc
CamocrosTenbHas pabora

V1,V¥2,V¥3,V4,V5, V6;
31,32,33,34,35;
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JloManiHsisi KOHTpOJIbHAs paboTa

OK 01,0K 06, OK 10

Tema 9. UHCTpYMEHTBI U1 MEpBI
0€30MaCHOCTH MPUTIPOBEACHUN
PEMOHTHBIX paboT Ha
ABTOMOOMIIEHOM TPAHCTIOPTE.

CamocrositenbHas pabota
JloManiHsisi KOHTpOJIbHAs paboTa

V1,V2,V¥3,V4,V5, Ve,
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 10. O6opynoBanue npu
OXpaHe TpyJa Ha TPaHCIIOpTe.

CamocrositenbHas pabota
JloManiHsisi KOHTpOJIbHAs paboTa

V1,V2,V¥3,V4,V5, V6,
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 11. UnCTpYyK1IIMU U
PYKOBOJICTBa MPU
HCII0JI30BaHUU NTPUOOPOB
TEXHUYECKOTro 000pyI0BaHuUs
aBTOMOOWIISL.

YceTHBII onpoc
CamocTosTenbHas paboTa
JlomartiHsisi KOHTpOJbHas padboTa

V1,V2,V¥3,V4,V5, V6,
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 12. UncTpykiuu no
TEXHUKE 0€30MMaCHOCTH TIPH
PEMOHTE ¥ BOXKJICHUH
ABTOMOOMJIS.

VYcerHblii onpoc
CamocrosiTenbHas padora
JloManiHssi KOHTpoJIbHAs paboTa

V1,V¥2,V¥3,V4, V5, Ve;
31,32,33,34,35;
OK 01,0K 06, OK 10

Tema 13. 5 xouy ObITH
TEXHUKOM

CamocrosTenbHas paboTa
JlomarHsisi KOHTpOJbHas padboTa

V1,V¥2,V¥3,V4, V5, Ve;
31,32,33,34,35;
OK 01,0K 06, OK 10

HpOMe)KYTO'—IHaﬂ aTrecranus

JuddepenurpoBaHHbIi
3a4eT (KiaccHast
KOHTpOJIbHast paboTa)

V1,V2,V¥3,V4,V5, V6,
31,32,33,34,35;
OK 01,0K 06, OK 10
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3. 3apgaHus 115 OLleHKHM OCBOEHHS YUeOHOI IHCIUIITTHHBI

3.1. 3aganus ansa tekyuiero koutpods ([punoxenue 2)

Texyumuii KOHTPOJIb PEYEBBIX M S3BIKOBBIX 3HAHUNW U YMEHUH oOOyyaroumxcs B
coorBeTcTBUM ¢ HacrosiiuM KOC mnpoBoautcs B (opme yCTHOro ompoca u
CaMOCTOATENLHON paboThl (JIOMalIHEH KOHTPOJIBHOM paboThl). YCTHBIM OIpoc
OCYLIECTBIISIETCS 110 3-M BHJAM PEYEBOM ACSITEIBHOCTU: AYAUPOBAHMIO, YTCHUIO U
TOBOPEHHIO (MOHOJIOTMYECKOI/ANATIOTHYECKOW peud 00ydarolmMxcsi MO TEME B
COOTBETCTBUH C paboyei mporpaMMoi y4eOHOM JUCIUTUINHBI).

KoHTposib  rpaMMaTHYECKMX  HABBIKOB IPOBOJUTCA B  BUAE  BBIIOJHEHUS
OOyYAIOIIMMHUCS TPaMMATHUYECKUX YIPAKHEHUH, MPOBEPOYHOU CaMOCTOSITENbHON
paboThl (IoMalIHENl KOHTPOJIBHON paboThl) U B JOpME YCTHOTO OINpoca MO TeMaM B
COOTBETCTBHUHM C paboyeil MporpaMmMon y4eOHOU JUCIUTIINHBI.

Jomaissist koHTposabHas padora umeer 100 BapuanToB. OOy4daronivecs: BbIIOJHSIIOT
TOJIBKO OJIMH BAapHAHT KOHTPOJIBHOW pabOThl, HOMEpP BapuUaHTa COOTBETCTBYET
HOCJIEAHUM JBYM LIM(ppaM HOMEpa 3a4ETHON KHIKKH.

3.2. 3amanus uis npoMmexyTouHoi atrectanuu ([Ipunoxenue 1)
4, YcioBusi NpoBeAeHUA IPOMEKYTOYHOM ATTECTAlMU
KonnuecTBo BapraHTOB 3a1aHUM I aTTECTYIOIMUXCS: 4;

Bpewmst BeITIOTHEHUS 3a1aHust — 2 akajeMudeckux yaca/90 MuH.
O6opynoBanue: OJIaHKH JIST TECTUPOBAHUS.

S. Kpurepuu oueHuBaHus 1 NPOMEKYTOYHOM aTTECTALMU

Kaxnoe 3ananue nuddepeHImpoBaHHOTO 3a4€Ta OIEHUBACTCS CIASAYIOMNUM 00pa3oMm:

3AJIAHUE \ KOJIMYECTBO BAJIJIOB
I. llpakTyeckoe 3ananue (50)
1. Read the text and translate it into 20
Russian
2. Give English equivalents of the words 10
and word combinations:
3 Give Russian equivalents of the 10
words and words combinations
4. Make questions to the underlined 10
words and translate them:
I1. Grammar Test (50)




| 25 BOIIPOCOB

| x2 =50

BEBITTONTHMB ~ MPaKTHYECKYID HM T'PAaMMAaTHYECKYH0 YacTH, OOYYaroIIMHCS MOXET
MakcuMasibHO ToyuuTh 100 OGammoB. OOmias oleHKa BBICTABISETCS B COOTBETCTBUU C

TaOINIIEH;

YpoBeHb Y4eOHbIX
AOCTHKEHUM

IToxka3aTenn OLICHKH pe3yJabTaToB

«5» OTJINYHO

oOydJarorrecs mojydaroT B TOM CIydae, €CJI BEpHbIE
oTBeTHhI cocTaBIIIOT OT 80 10 100% oT 00111eT0 KOJIMYECTBa;

«4» xopo1io

oOyyJaroIuecs MoJy4aroT B TOM ClIydae, €CIH BepHbIS
OTBETHI COCTABIIAIOT OT 71 10 79% 0T 00111eT0 KOJIMYECTBA;

«3»

06yanOIHH€CH I10JIy4aroT B TOM CJIy4dac, €CJIM BCPHBIC

YAOBJIETBOPUTENBHO | OTBETHI COCTABISIOT OT 50 10 70% OT 00111ero KoJIMyecTBa
«2» HEYJIOBJIETBOPUTEIIBHO — 00yYaloIKecs MoIy4atoT B TOM
HEYAOBJIETBOPUTENBHO | CIIy4ae, €CIIM BEPHBIE OTBETHI COCTABIAIOT MeHee 50% oT

0OIIIETO KOJIMUYECTBA




Ilpunooscenue 1

MUHUCTEPCTBO HAYKHU U BBICLLIET'O O5PA3OBAHISI
POCCUICKOI ®EJIEPALIIU

OEJNEPAJIBHOE TOCYJAPCTBEHHOE BIO/ZKETHOE OBPA30OBATEJIBHOE
YYPEXJIEHUE BBICIHEI'O OBPA3OBAHUA
«JIYTAHCKHHA I'OCYJIAPCTBEHHbBIY YHUBEPCUTET
NUMEHU BJJAJUMMUMPA JTAJIS»

KOJUIEJXK

Paccmotpeno u yTBepxkAEHO
Ha 3acelaHuU METOIUIECKON KOMHUCCHU YTBEPXIAIO
T'YMaHUTAPHbBIX TUCLUILIUH 3aMecTUTeNb AUPEKTOpa
IIpoTokois OT «_ » 20  romaNe
IIpencenarens komuccuun B.B.3axapos

I'.b.Maxkapuyk « » 20 1.

KOMIIVIEKT 3AI[AHI/II71

JJISl IPOBeICHUs POMEKYTOYHOM aTTecTalun
B (popme b depeHpoBaHHOrO 3a4eTa

10 y4eOHO# JUCHUILINHE
OI'C2.03 UHocTpaHHBIil A3bIK B NPO(decCHOHAILHON NeSITeJIbHOCTH

o CrnenMuaJdbHOCTH

23.02.07 Texnuveckoe 00CJIy:KUBAHUE U PEMOHT JBUraTeJieil, CHCTEM U
arperaToB aBToMoOMJIeil

JUISL CTYJIEHTOB 4 Kypca rpynmnsl 1 A-233

dbopmMbI OOyUEeHUS: 3a04HAS

IIpenogaBarens B.B.Boituenko
(noonucwv)
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®I'BOY BO «JIYTAHCKHUIH I'OCYJAPCTBEHHBIN
YHUBEPCUTET
HUMEHU BJIAJUMUPA JTAJIS»

KOJLIEK

Vyeonasa gucumiuinga OI'CD.03 MuocTpaHHbIi S3BIK B IPOOECCHOHAILHON
JEATEILHOCTH

CroemmansaoCcTh 23.02.07 Texuuueckoe 00CIyKUBAHUE M PEMOHT JIBUTATEIIEN,
CHUCTEM U arperatoB aBTOMOOMIEH

Kypc 4 ®opma 00yueHust 3a0uHas

BUJIET Ne 1

|. IlpakTH4Yeckoe 3a1aHue
1. Read the text and translate it into Russian

The roots of electricity
The roots of electricity take place inside the atom itself. Matter is composed of atoms. a nucleus
is orbited by one or more electrons, each with a negative charge. In many materials, the electrons
are tightly bound to the atoms. Wood, glass, plastic, ceramic, air, cotton -- these are all examples
of materials in which electrons stick with their atoms. Because the electrons don't move, these
materials can't conduct electricity very well, if at all. These materials are electrical insulators.
2. Give English Equivalents of the words and word combinations:
1) uzonstop 2) NpoBOTHUK 3) MOJMOKUTENbHBIN 3apsi 4) mapoBoil IBUTATENb 5) OJIOK MUTAHUS
3. Give Russian equivalents of the words and word-combinations:
1) alternating current 2) power generating stations 3) wall outlet 4) electrical grid 5) step-down
transformer
4. Make questions to the underlined words and translate them:
1) In the XIX century electrification changed every aspect of human life. 2) In those years Tesla
was battling Edison.3) The voltage level will be raised easily with transformers.
Il. Grammar Test.
1. Bemasbme nponyuiennoe cnoso: | ... NEwspapers every morning.
a) wrote b) writes c) write 4) written
2. Bcmasvme nponywennoe cnoso: Last week the boy ... the window.
a) broke b) break c) breaked d) was breaking
3. Bcmasvme nponywennoe croso: They will arrive .. ..
a) yesterday b) next month c) a week ago d) lately
4. Boibepume sapuanm nepesoda. He left for Alaska.
a) On yexan ¢ Amsicku. b) O yener Ha Assicky. €) D1o cieBa ot Anscku. d) On yexan Ha
AJISACKY.
5. Bcmasbme nponywennoe cnoso: The children are in the forest now. They ... mushrooms.
a) gather b) are gathering c) is gathering d) gathering
6. Bcmasvme nponywennvie ciosa: The man ... a magazine when somebody ... at the
door.
a) read / knocked c) was reading / was knocking
b) were reading / knocked d) was reading / knocked
1. Bcmasbme nponywennoe cnoso: We shall be flying to London ....
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a) at this time tomorrow b) every year c) at present d) last Friday

8. Bvibepume eapuanm nepeeoda: Korna s BOIIen, OHU CMOTPEIH TEJIEBU30P.

a) When | came in they watched TV. ¢) When | came in they were watching TV.
b) When | was coming in they were watching TV. d) When they came in | was watching TV.
9. Bcmasvme nponywennoe ciogo: We ... already seen this new film.

a) has b) have c) are d) don’t

10. Bcmasvme nponywennoe cnoso: By two o'clock the teacher ... all the students.

a) had examined b) examined c) was examining d) had been examining

11. Bcmasvme nponyuwennoe croso: He will have finished the report ... .

a) last Tuesday b) during next week c) by next Tuesday d) now

12. Bvibepume sapuanm nepesoda. Thl yxe mo3aBTpaxan?

a) Have you had breakfast already? c) Do you have breakfast already?

b) Did you breakfast already? d) Have you breakfast already?

13. Buibepume naubonee nooxodsawyio opmy erazora: They ... in France since 1990.
a) lives b) is living c) are lived d) have been living

14 . Bemasvme nponywennoe cioso: The kettle has been boiling ... a quarter of an hour.
a) for b) at c) in d) after

15 . Becmasvme nponyuiennoe croso: 1 have ... this man since my childhood.

a) knowing b) knew c) been knew d) known

16. Bvibepume sapuanm nepesoda. We've been fishing since 6 o’clock.

a) MBI ppIOaYuM IIECTh YaCOB. C) Meb1 OyzneM ppIOaunTh MIECTh YacOB.

b) MbI ppI0OaYKM C IIECTH YacoB. d) Ha pei6anke Hac ObUIO mIECTEPO.

17. Onpedenume uucno: ninety thousand seven hundred and eight

a) 19 708 b) 1978 c) 90 708 d) 97 708

18. Onpedenume yucno: 13.042

a) thirteen point zero four two b) thirteen thousand forty two c) thirty point zero four two d) one
three point forty two

19. Onpedenume uucno: eight and three seventeenths

a) 83,17 b) 83/70 ¢) 8 3/70 b) 8 3/17

20. Onpedenume spems: It’s a quarter to eight.

a) 08.15 b) 07.45 c) 08.45 d) 08.30

21. Bvibepume eapuanm nepesoda: Ero npuriacuiv Ha BEYEpUHKY.

a) He was inviting to the party c) He was invited to the party

b) He’ll be invited to the party d) He invited to the party.

22. Buibepume sapuanm nepesooa: He is asked to explain the rule.

a) Ero mpocsT 00BsCHUTH MPaBUIIO ) Ero nonpocunu 00bsICHUTH IPABUIIO
b) OH monpocun 0OBSICHUTH IPABUIIO d) OH mpocHuT 0OBACHUTH MTPABUIIO

23 Bbzéepume npedﬂoofceﬂue 6 cmpa()ameﬂbHOM 3ajloee, coomeemcemeyuiee ()aHHOMV
NPEONOANCEHUIO !

The students are copying the text.

a) The text is copied by the students ) The text are copied by the students

b) The text is copying by the students d) The text is being copied by the students

24. Bvibepume naubonee nooxodauyio popmy enazona: This novel ... by Stephen King in 1978
a) write b) wrote c) was written d) was writed

25. Onpedenume spems u 3anoe ckazyemozo: Great Britain was occupied by the Romans in the
first century A.D.

a) Past Simple Passive b) Past Simple Active c) Past Continuous Active d) Past Continuous
Passive

[Ipencenarens METOAUYECKOW KOMUCCUN I'.b.Makapuyk
[Ipenonasaresnb B.A.Boiiuenko
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®I'BOY BO «JIYTAHCKHUIM I'OCYJAPCTBEHHbBIN
YHUBEPCUTET
UMEHU BJIAJIUMHAPA JTAJISI»

KOJLIEK

Vyeonasa gucumiuimga OI'CD.03 MuocTpaHHbIi A3bIK B IpodeCcCHOHAIBLHON
JEATEILHOCTH

CroemmanpaoCcTh 23.02.07 Texuuueckoe 00CIyKUBAHUE M PEMOHT JIBUTATEJIEH,
CHUCTEM U arperatoB aBTOMOOWIEH

Kypc 4 ®opma 00yueHust 3a0uHas

BHUJIET Ne 2

|. IlpakTHYecKkoe 3a1aHue
1. Read the text and translate it into Russian

The roots of electricity
Most metals have electrons that can detach from their atoms and zip around. These are called
free electrons. The loose electrons make it easy for electricity to flow through these materials, so
they're known as electrical conductors. They conduct electricity. The moving electrons transmit
electrical energy from one point to another. Electricity needs a conductor in order to move. There
also has to be something to make the electricity flow from one point to another through the
conductor.
2. Give English Equivalents of the words and word combinations:
1) coBMecTuMBIi 2) UHCTPYMEHT 3) Meb 4) MeTamuioo0padoTKa 5) MOCTOSTHHBIN TOK
3. Give Russian equivalents of the words and word-combinations:
1) circuit 2) wireless power transmission 3) energy consumer 4) to repair 5) subdivision of labor
4. Make questions to the underlined words and translate them:
1) The voltage level will be raised easily with transformers. 2) A few milliamperes of current can
cause heart fibrillation. 3) Direct current has maintained an important role in modern life.
1. Grammar Test.
1. Bcmasvme nponywennoe cioso: | ... Newspapers every morning.
a) wrote b) writes c) write 4) written
2. Bcmasbme nponywennoe cnoso: Last week the boy ... the window.
a) broke b) break c) breaked d) was breaking
3. Bcmasvme nponywennoe croso: They will arrive .. ..
a) yesterday b) next month c) a week ago d) lately
4. Boibepume sapuanm nepesoda. He left for Alaska.
a) On yexan ¢ Amsicku. b) O yener Ha Assicky. €) D1o cieBa ot Amscku. d) On yexan Ha
AJISACKY.
5. Becmasvme nponywennoe cnoso: The children are in the forest now. They ... mushrooms.
a) gather b) are gathering c) is gathering d) gathering
6. Bcmasbme nponywennvle ciosa: The man ... a magazine when somebody ... at the
door.
a) read / knocked c) was reading / was knocking
b) were reading / knocked d) was reading / knocked
1. Bcmasbme nponywennoe cnoso: We shall be flying to London ....
a) at this time tomorrow b) every year c) at present d) last Friday
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8. Bvibepume sapuanm nepesoda: Korna s Bouien, OHA CMOTPEIN TEICBU30D.

a) When | came in they watched TV. ¢) When | came in they were watching TV.
b) When | was coming in they were watching TV. d) When they came in | was watching TV.
9. Bcmasbme nponywennoe cnoso: We ... already seen this new film.

a) has b) have ¢) are d) don’t

10. Becmasvme nponywennoe cnoso: By two o'clock the teacher ... all the students.

a) had examined b) examined c) was examining d) had been examining

11. Becmasvme nponywennoe croso: He will have finished the report ... .

a) last Tuesday b) during next week c) by next Tuesday d) now

12. Bvibepume sapuanm nepesoda: Thl yxe mo3aBTpakan?

a) Have you had breakfast already? c¢) Do you have breakfast already?

b) Did you breakfast already? d) Have you breakfast already?

13. Buibepume naubonee nooxodawyio popmy 2nazona: They ... in France since 1990.
a) lives b) is living c) are lived d) have been living

14 . Bemasvme nponywennoe cioso: The Kettle has been boiling ... a quarter of an hour.
a) for b) at c) in d) after

15 . Bcmasvme nponyuennoe cnoso: 1 have ... this man since my childhood.

a) knowing b) knew c) been knew d) known

16. Bvibepume sapuanm nepesoda: We've been fishing since 6 o’clock.

a) MbI ppiOayuM LIECTh YaCOB. C) Mb1 OyzneM pblOaunTh MIECTH YaCOB.

b) MbI pbI0ayrM C IIECTH YacoB. d) Ha pei6anke Hac ObLIO HIECTEPO.

17. Onpedenume uucno: ninety thousand seven hundred and eight

a) 19 708 b) 1978 ¢) 90 708 d) 97 708

18. Onpeoenume uucno: 13.042

a) thirteen point zero four two b) thirteen thousand forty two c) thirty point zero four two d) one
three point forty two

19. Onpedenume uucno: eight and three seventeenths

a) 83,17 b) 83/70 c) 8 3/70 b) 8 3/17

20. Onpedenume gpems: It’s a quarter to eight.

a) 08.15 b) 07.45 c) 08.45 d) 08.30

21. Bvibepume sapuanm nepesoda: ETo MpUriacuiii Ha BEYEPUHKY.

a) He was inviting to the party c) He was invited to the party

b) He’ll be invited to the party d) He invited to the party.

22. Bvibepume sapuanm nepesoda: He is asked to explain the rule.

a) Ero npocsaT 00bACHUTH TPaBUIIO c) Ero monpocunu o0bsCHUTE MPaBUIIO
b) OH monpocu 0OBSICHUTH IPABUIIO d) OH npocHuT 0OBACHUTH MTPABUIIO

23 Bbl6€Dum€ npec)fzoofcenue 6 cmpadamefszOM 3ajlioee, coomeemcenisyuiee aaHHOMV
NPeONIONCEHUID.!

The students are copying the text.

a) The text is copied by the students c) The text are copied by the students

b) The text is copying by the students d) The text is being copied by the students

24. Bvibepume naubonee nooxoosuyio gopmy 2razona: This novel ... by Stephen King in 1978
a) write b) wrote c¢) was written d) was writed

25. Onpedenume spems u 3anoe ckazyvemozo: Great Britain was occupied by the Romans in the
first century A.D.

a) Past Simple Passive b) Past Simple Active ¢) Past Continuous Active d) Past Continuous
Passive

IIpencenarens METOAMYECKOM KOMUCCUU I'.b.Makapuyk
IIpenogaBarenn B.A.Boituenko
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®I'BOY BO «TYTAHCKHUN T'OCYJAPCTBEHHBI YHUBEPCUTET
NMEHMU BJIAJIMUMUPA JTAJISA»

KOJLIEK

Vyeonasa gucimiuinga OI'CD.03 MuocTpaHHbIi A3bIK B IIpOodeCcCHOHAIBLHON
JIEATEILHOCTH

Crnennansaocth 23.02.07 Texunueckoe 00CIyKUBAaHUE U PEMOHT JIBUTATENIEH,
CHUCTEM H arperaToB aBTOMOOMIEH

Kypc 4 ®opma 00yueHust 3a0uHas

BHUJIET Ne 3
|. IlpakTHYeckoe 3a1aHue
1. Read the text and translate it into Russian

Generator

There is a definite link between the phenomena of electricity and magnetism. A generator is
simply a device that moves a magnet near a wire to create a steady flow of electrons. The action
that forces this movement varies greatly, ranging from hand cranks and steam engines to nuclear
fission, but the principle remains the same.
In an electrical circuit, the number of electrons in motion is called the amperage or current, and
it's measured in amps. The "pressure” pushing the electrons along is called the voltage and is
measured in volts.
2. Give English Equivalents of the words and word combinations:
1) oTpuLaTeNBbHO 3apsKEHHBIN 2) TepeMeHHbIN TOK 3) u3MepsATh 4) cOOpoUHas JIMHUSA 5) crocod
Mpou3BOJACTBA
3. Give Russian equivalents of the words and word-combinations:
1) internal combustion engine 2) three-shift workday 3) technical assistance 4) skilled workers 5)
cast iron rails
4. Make questions to the underlined words and translate them:
1) In England many canals connected main rivers forming a network of waterways. 2) American
inventors were producing many new machines for industry and agriculture. 3) These machines
will be arranged in lines for more efficient production.
Il. Grammar Test.
1. Bemasbme nponyuiennoe cnoso: | ... Newspapers every morning.
a) wrote b) writes ¢) write 4) written
2. Bcmasbme nponywennoe cnoso: Last week the boy ... the window.
a) broke b) break c) breaked d) was breaking
3. Bcmasvme nponywennoe cioso. They will arrive ...
a) yesterday b) next month c) a week ago d) lately
4. Boibepume sapuanm nepesooa. He left for Alaska.
a) On yexan ¢ Ansicku. b) On yenet Ha Assicky. €) Dto ciieBa ot Ansicku. d) OH yexan Ha
AJTsCKYy.
5. Bcmasbme nponywennoe cnoso: The children are in the forest now. They ... mushrooms.
a) gather b) are gathering c) is gathering d) gathering
6. Bcmagvme nponyujennvie cnosa: The man ... a magazine when somebody ... at the
door.
a) read / knocked c) was reading / was knocking
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b) were reading / knocked d) was reading / knocked

7. Bcmasbme nponywennoe croso: We shall be flying to London ....

a) at this time tomorrow b) every year c) at present d) last Friday

8. Bvibepume eapuanm nepeeoda: Korna st BOIen, OHU CMOTPEIH TEJIEBU30P.

a) When | came in they watched TV. ¢) When | came in they were watching TV.
b) When | was coming in they were watching TV. d) When they came in | was watching TV.
9. Bcmasvme nponywennoe cioso: We ... already seen this new film.

a) has b) have c) are d) don’t

10. Bcmasvme nponywennoe croso: By two o'clock the teacher ... all the students.

a) had examined b) examined c) was examining d) had been examining

11. Bcmasvme nponywennoe croso: He will have finished the report ... .

a) last Tuesday b) during next week c) by next Tuesday d) now

12. Bvibepume sapuanm nepesoda. Thl yxe mo3aBTpaxan?

a) Have you had breakfast already? c¢) Do you have breakfast already?

b) Did you breakfast already? d) Have you breakfast already?

13. Buibepume naubonee nooxodsawyio popmy ernazora: They ... in France since 1990.
a) lives b) is living c) are lived d) have been living

14 . Bemasvme nponywennoe cioso: The kettle has been boiling ... a quarter of an hour.
a) for b) at c) in d) after

15 . Becmasvme nponyuiennoe croso: 1 have ... this man since my childhood.

a) knowing b) knew c) been knew d) known

16. Bvibepume sapuanm nepesoda: We've been fishing since 6 o’clock.

a) MbI ppIOaYuM IIECTh YaCOB. C) Meb1 OyzneM ppIOaunTh MIECTh YacOB.

b) MbI ppI0aYKM C IIECTH YacoB. d) Ha pei6anke Hac ObUIO mIECTEPO.

17. Onpedenume uucno: ninety thousand seven hundred and eight

a) 19 708 b) 1978 c) 90 708 d) 97 708

18. Onpedenume yucno: 13.042

a) thirteen point zero four two b) thirteen thousand forty two c) thirty point zero four two d) one
three point forty two

19. Onpedenume uucno: eight and three seventeenths

a) 83,17 b) 83/70 ¢) 8 3/70 b) 8 3/17

20. Onpedenume spems: It’s a quarter to eight.

a) 08.15 b) 07.45 c) 08.45 d) 08.30

21. Bvibepume eapuanm nepesoda: Ero npuriacuiv Ha BEYEpUHKY.

a) He was inviting to the party c) He was invited to the party

b) He’ll be invited to the party d) He invited to the party.

22. Buibepume sapuanm nepesoda: He is asked to explain the rule.

a) Ero mpocsT 00BsCHUTH MPaBUIIO ) Ero nonpocunu 00bSICHUTH IPABUIIO
b) OH monpocun 0OBSICHUTH IPABUIIO d) OH nmpocHuT 0OBACHUTH MTPABUIIO

23 Bbl6epume npe()fzoofceuue 6 cmpadameﬂbuom 3ajloee, coomeemcenisyuiee aaHHOMV
NPEONONCEHUIO

The students are copying the text.

a) The text is copied by the students ) The text are copied by the students

b) The text is copying by the students d) The text is being copied by the students

24. Bvibepume naubonee nooxodauyio popmy enazona: This novel ... by Stephen King in 1978
a) write b) wrote ¢) was written d) was writed

25. Onpedenume spems u 3anoe ckazyemozo: Great Britain was occupied by the Romans in the
first century A.D.

a) Past Simple Passive b) Past Simple Active c) Past Continuous Active d) Past Continuous
Passive

[Ipencenarens METOAUYECKOW KOMUCCUN I'.b.Makapuyk
[Ipenonasaresnb B.A.Boiiuenko
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®I'BOY BO «TYTAHCKHUN T'OCYJAPCTBEHHBI YHUBEPCUTET
NMEHMU BJIAJIMUMUPA JTAJISA»

KOJLIEK

Vyeonasa gucimiuinga OI'CD.03 MuocTpaHHbIi A3bIK B IIpOodeCcCHOHAIBLHON
JIEATEILHOCTH

Crnennansaocth 23.02.07 Texunueckoe 00CIyKUBAaHUE U PEMOHT JIBUTATENIEH,
CHUCTEM H arperaToB aBTOMOOMIEH

Kypc 4 ®opma 00yueHust 3a0uHas

BHUJIETNe 4
|. IlpakTHYeckoe 3a1aHue
1. Read the text and translate it into Russian

Generator

A generator may get your electrons moving along, but you'll need an electrical circuit to do
anything with it. Find out why next.
When you load a battery into an electronic device, you're not simply unleashing the electricity and
sending it to do a task. Negatively charged electrons wish to travel to the positive portion of the battery --
and if they have to rev up your personal electric shaver along the way to get there, they'll do it. On a very
simple level, it's much like water flowing down a stream and being forced to turn a water wheel to get
from point A to point B.
2. Give English Equivalents of the words and word combinations:
1) Hacoc 2) gaBnenue 3) ycToiuuBbIi TOTOK 4) mpuOOp, YCTPOHUCTBO 5) snekTpudeckas Hemb
3. Give Russian equivalents of the words and word-combinations:
1) employer 2) large scale structures 3) blacksmithing 4) non-ferrous metals 5) photovoltaic panels
4. Make questions to the underlined words and translate them:
1) These machines will be arranged in lines for more efficient production. 2) Nuclear power
plants can produce a huge amount of power from a single unit. 3) Power stations have become
economically practical with the development of AC power transmission.
1. Grammar Test.
1. Bcmasvme nponywennoe cioso: | ... Newspapers every morning.
a) wrote b) writes c) write 4) written
2. Bcmasbme nponywennoe cnoso: Last week the boy ... the window.
a) broke b) break c) breaked d) was breaking
3. Bcmasvme nponywennoe croso: They will arrive ...
a) yesterday b) next month c) a week ago d) lately
4. Boibepume sapuanm nepesooa. He left for Alaska.
a) On yexan ¢ Amsicku. b) O yener Ha Assicky. €) Dto cieBa ot Amsscku. d) On yexan Ha
AJISACKY.
5. Bcmasbme nponywennoe cnoso: The children are in the forest now. They ... mushrooms.
a) gather b) are gathering c) is gathering d) gathering
6. Bcmasbme nponywennvle ciosa: The man ... a magazine when somebody ... at the
door.
a) read / knocked c) was reading / was knocking
b) were reading / knocked d) was reading / knocked
1. Bcmasbme nponywennoe cnoso: We shall be flying to London ....
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a) at this time tomorrow b) every year c) at present d) last Friday

8. Bvibepume eapuanm nepeeoda: Korna s BOIIen, OHU CMOTPEIH TEJIEBU30P.

a) When | came in they watched TV. ¢) When | came in they were watching TV.
b) When | was coming in they were watching TV. d) When they came in | was watching TV.
9. Bcmasvme nponywennoe ciogo: We ... already seen this new film.

a) has b) have c) are d) don’t

10. Bcmasvme nponywennoe cnoso: By two o'clock the teacher ... all the students.

a) had examined b) examined c) was examining d) had been examining

11. Bcmasvme nponywennoe croso: He will have finished the report ... .

a) last Tuesday b) during next week c) by next Tuesday d) now

12. Bvibepume sapuanm nepesoda. Thl yxe mo3aBTpaxan?

a) Have you had breakfast already? c¢) Do you have breakfast already?

b) Did you breakfast already? d) Have you breakfast already?

13. Buibepume naubonee nooxodsawyio opmy erazora: They ... in France since 1990.
a) lives b) is living c) are lived d) have been living

14 . Bemasvme nponywennoe cioso: The kettle has been boiling ... a quarter of an hour.
a) for b) at c) in d) after

15 . Becmasvme nponyuiennoe croso: 1 have ... this man since my childhood.

a) knowing b) knew c) been knew d) known

16. Bvibepume sapuanm nepesoda. We've been fishing since 6 o’clock.

a) MBI ppIOaYuM IIECTh YaCOB. C) Meb1 OyzneM ppIOaunTh MIECTh YacOB.

b) MbI ppI0OaYKM C IIECTH YacoB. d) Ha pei6anke Hac ObUIO mIECTEPO.

17. Onpedenume uucno: ninety thousand seven hundred and eight

a) 19 708 b) 1978 c) 90 708 d) 97 708

18. Onpedenume yucno: 13.042

a) thirteen point zero four two b) thirteen thousand forty two c) thirty point zero four two d) one
three point forty two

19. Onpedenume uucno: eight and three seventeenths

a) 83,17 b) 83/70 ¢) 8 3/70 b) 8 3/17

20. Onpedenume spems: It’s a quarter to eight.

a) 08.15 b) 07.45 c) 08.45 d) 08.30

21. Bvibepume eapuanm nepesoda: Ero npuriacuiv Ha BEYEpUHKY.

a) He was inviting to the party c) He was invited to the party

b) He’ll be invited to the party d) He invited to the party.

22. Buibepume sapuanm nepesooa: He is asked to explain the rule.

a) Ero mpocsT 00BsCHUTH MPaBUIIO ) Ero nonpocunu 00bsICHUTH IPABUIIO
b) OH monpocun 0OBSICHUTH IPABUIIO d) OH mpocHuT 0OBACHUTH MTPABUIIO

23 Bbzéepume npedﬂoofceﬂue 6 cmpa()ameﬂbHOM 3ajloee, coomeemcemeyuiee ()aHHOMV
NPEONOANCEHUIO !

The students are copying the text.

a) The text is copied by the students ) The text are copied by the students

b) The text is copying by the students d) The text is being copied by the students

24. Bvibepume naubonee nooxodauyio popmy enazona: This novel ... by Stephen King in 1978
a) write b) wrote c) was written d) was writed

25. Onpedenume spems u 3anoe ckazyemozo: Great Britain was occupied by the Romans in the
first century A.D.

a) Past Simple Passive b) Past Simple Active c) Past Continuous Active d) Past Continuous
Passive

[Ipencenarens METOAUYECKOW KOMUCCUN I'.b.Makapuyk
[Ipenonasaresnb B.A.Boiiuenko
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[Tpunoxenue 2
3ananus 7151 AOMAIIHEH KOHTPOJIbHON padOThI

3apanue 1. BeimonHUTEe YCTHBIN MepeBoj TekcTa. [lepeBeauTe mucbMeHHO
6blOECICHHbLIL OMPBIEOK Y TUCHMEHHO OTBETHTE Ha BOIIPOCHI.

Texkcr 1

INDUSTRIAL REVOLUTION
(PART 1)

Most products which people use today are made by the process of mass
production. People (and sometimes, robots) work on assembly lines using
machines. People of ancient and medieval times had to spend long hours of hand
labor even on simple objects. The energy they employed in work came from their
own and animals' muscles. The Industrial Revolution changed people's way of life
as well as their methods of manufacture. The most important changes were the
invention of machines to do the work of hand tools; the use of steam in place of the
muscles of human beings and of animals; and the adoption of the factory system.

Several systems of making goods had grown up by the 18th century. In
country districts families produced most of the food, clothing, and other articles
they used manually. In the cities the goods was made in shops like those of the
medieval craftsmen. The goods made in these shops, though of high quality, were
limited and costly and the merchants began establishing another system of
producing goods.

Cloth merchants, for instance, bought raw wool from the sheep owners and
took it to country weavers to be made into textiles. These country weavers could
manufacture the cloth more cheaply than city craftsmen could because they got
part of their living from their gardens or small farms.

The merchants then collected the cloth and gave it out again to finishers and
dyers. Thus they controlled clothmaking from start to finish. Similar methods of
organizing and controlling the process of manufacture came to prevail in other
industries, such as the nail, cutlery, and leather goods.

This system is called the putting-out system, the domestic system or cottage
industry. A few merchants who had enough capital brought workers together under
one roof and supplied them with the implements of the trades. These
establishments were factories, though they bear slight resemblance to the factories
of today.

Wheels turned by running water had been the chief source of power for
the early factories. These factories were necessarily situated on swift-running
streams. When the steam engine became efficient, it was possible to locate them
in more convenient places.

The first users of steam engines were the coal and iron industries. In coal
mines they pumped out the water which usually flooded the deep shafts. Iron was
scarce and costly, and production was falling off because England's forests
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could not supply enough charcoal for smelting the ore. Ironmasters had long
been experimenting with coal as a fuel for smelting. Finally, they could
transform it into coke. This created a new demand for coal and laid the
foundation for the British coal industry. In the 1780s Henry Cort developed the
processes of puddling and rolling. Puddling produced nearly pure malleable
iron.

1) How does the method of mass production differ from medieval
techniques? 2) What kind of goods was it possible to produce using hand labor? 3)
How did people begin applying subdivision of labor? 4) What country did the first
factories appear in? 5) Why were they placed on swift-running streams? 6) What
event laid the foundation for the British coal industry?

Texkct 2

INDUSTRIAL REVOLUTION
(PART II)

With English factories calling for supplies, such as American cotton, and
sending goods to all parts of the world, better transportation was needed. The roads
of England were poor. Packhorses and wagons crawled along them, carrying small
loads. Such slow transportation kept the cost of goods high. Here again the need
produced the invention. A better method of road construction was developed.
Many canals were dug. They connected the main rivers and formed a network of
waterways for transporting coal and other heavy goods. A canal boat held much
more than a wagon. In some places, where it was impossible to dig canals and
where heavy loads of coal had to be hauled, mine owners laid down wooden or
iron rails. On these early railroads one horse could haul as much coal as 20 horses
could on ordinary roads. Early in the 19th century came Stephenson's locomotive
and Fulton's steamboat, an American invention. They marked the beginning of
modern transportation on land and sea.

As conditions in industry changed, social and political conditions changed
with them. Cities grew rapidly, and the percentage of farmers in the total
population declined. The population of England began to increase rapidly after the
middle of the 18th century. Because of progress in medical knowledge and
sanitation, fewer people died in infancy or childhood and the average length of life
increased.

Machines took a great burden of hard work from the muscles of human
beings. But the change from domestic industry to the factory system meant a loss
of independence to the worker. The change was particularly hard on the weavers.
They had been independent masters and managers of their own businesses. It is no
wonder that they rioted and broke up looms.

The United States was slow in adopting machine methods of manufacture.
Farming and trading were its chief interests until the Civil War. Men continued to
push westward, clearing the forests and establishing themselves on the land. When
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the Napoleonic wars and the War of 1812 upset commerce and made English
products difficult to obtain, more American investors began to build factories. New
England had swift streams for power. Iron for machines, tools, and guns was
smelted in stone furnaces. They burned charcoal, plentiful in this forested land.
New England was the first area in the United States to industrialize.

American inventors produced many new machines that could be applied to
industry as well as to agriculture. They designed a more powerful steam engine,
a sewing machine and invented several machines used to mechanize farming.
Techniques of factory production were refined in American workshops.
Americans led the movement to standardize parts used in manufacture. They
became interchangeable, enabling unskilled workers to assemble products from
boxes of parts quickly. American factories used machine tools to make parts.
These machines were arranged in lines for more efficient production. This was
called the ""American system of manufacturing,” and it was admired by all other
industrial nations. It was first applied to the manufacture of firearms and later
spread to other industries like clock and lock making.

1) What kept the cost of the English goods high? 2) How did Englishmen
solve the transportation problem? 3) What inventions marked the beginning of
modern transportation on land and sea? 4) How did factory system of manufacture
change England? 5) Why did weavers riot and break up looms? 6) Why were the
USA slow in adopting machine method of manufacture? 7) What events made
Americans build factories?

Texkcr 3

HENRY FORD

Automobile manufacturer Henry Ford was born July 30, 1863, on his
family's farm in Michigan. From the time he was a young boy, Ford enjoyed
tinkering with machines. Farm work and a job in a Detroit machine shop
afforded him opportunities to experiment. He later worked as a part-time
employee for the Westinghouse Engine Company. By 1896, Ford had
constructed his first horseless carriage which he sold in order to finance work on
an improved model.

Ford established the Ford Motor Company in 1903, proclaiming, "1 will
build a car for the great multitude.” During its early years, the company produced
just a few cars a day at its factory in Detroit, Michigan. Groups of two or three
men worked on each car, assembling it from parts made mostly by supplier
companies contracting for Ford. In October 1908, he did so, offering the Model T
for $850 (c. $15,500 in 2003 dollars). In the Model T's nineteen years of
production, its price reduced to $280. Nearly 15,500,000 were sold in the United
States alone. In 1909, mining magnate Robert Guggenheim sponsored an auto race
from New York to Seattle across the continental part of the USA in which the only
survivors were two Model T Fords — front-engined, rear-wheel drive a four-
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cylinder 20-horsepower internal combustion engined cars with a sliding gear
transmission. The Model T started the beginning of the Motor Age; the car turned
from luxury item for the rich to essential transportation for the ordinary man.

Ford revolutionized manufacturing. By 1914, his plant in Michigan, using
innovative production techniques, could turn out a complete chassis every 93
minutes (the earlier production time was 728 minutes). Using a constantly-moving
assembly line, subdivision of labor, and careful coordination of operations, Ford
realized huge gains in productivity.

In 1914, Ford began paying his employees five dollars a day ($120 today),
nearly doubling the wages offered by other manufacturers. He cut the workday
from nine to eight hours in order to convert the factory to a three-shift workday.
Ford's mass-production techniques allowed manufacturing a Model T car every
24 seconds. His innovations made him an international celebrity.

In May 1929 the Soviet Union signed an agreement with the Ford Motor
Company. Under its terms, the Soviets agreed to purchase $13 million worth of
automobiles and parts, while Ford agreed to give technical assistance until 1938 to
construct an automobile-manufacturing plant at Nizhny Novgorod. Many
American engineers and skilled auto workers moved to the Soviet Union to work
on the plant and its production lines. In 1933, the Soviets completed construction
on a production line for the Ford Model-A passenger car, called the GAZ-A, and a
light truck, the GAZ-AA. Both these Ford models were immediately adopted for
military use. By the late 1930s production at Gorki was 80,000-90,000 "Russian
Ford" vehicles per year.

Ford's Model T altered American society. The United States saw the growth
of suburbia, the creation of a national highway system, and a population having the
possibility of going anywhere anytime. Ford witnessed many of these changes
during his lifetime, but personally longing for the agrarian lifestyle of his youth. In
the years prior to his death on April 7, 1947, Ford sponsored the restoration of an
idyllic rural town called Greenfield Village.

The company sells automobiles and commercial vehicles under the Ford
brand and luxury cars under the Lincoln brand. Ford is the second-largest U.S.-
based automaker (after General Motors) and the fifth-largest in the world (2010).
In 2008, Ford produced 5.532 million automobiles and employed about 213,000
employees at around 90 plants and facilities worldwide.

1) Who was the founder of the Ford Motors? 2) What event is considered to
be the beginning of the Motor Age? 3) What is the technical specification of a
Model T Ford car? 4) How could Henry Ford realize huge gain in productivity? 5)
In what way did the company cooperate with the Soviet Union? 6) What
innovations made Henry Ford an international celebrity?

Texkct 4

George Stephenson
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George Stephenson (9 June 1781 — 12 August 1848) was an English
engineer who built the first public railway line in the world to use steam
locomotives.

He was born in England in a poor family. George understood the value of
education and paid to study at night school to learn reading, writing and
arithmetic—he was illiterate till the age of 18. In 1801 he began work at local
collieries. Once the pumping engine at one of the mines stopped working properly
and Stephenson offered to fix it. He did so with great success. He soon became an
expert in steam-driven machinery responsible for maintaining and repairing all of
the colliery engines.

Stephenson designed his first locomotive in 1814. It was constructed in the
colliery workshop behind Stephenson's home. This locomotive could haul 30 tons
of coal up a hill at 4 mph (6.4 km/h). A six-wheeled locomotive was built in 1817
but it was soon withdrawn from service because of damage to the cast iron rails.

The new engines were too heavy to be run on wooden rails, and iron rails
were made from cast iron exhibiting excessive brittleness. Stephenson improved
the design of cast iron rails to reduce breakage. He was hired to build an 8-mile
(13-km) railway from Hetton colliery to Sunderland in 1820. Stephenson used a
combination of gravity on downward inclines and locomotives for level and
upward stretches. It was the first railway using no animal power.

In 1821, a British government decided to build the 25-mile (40 km) railway
and to connect various collieries in the North (The Stockton and Darlington
Railway). The original plan was to use horses to draw coal carts on metal rails,
but Stephenson could change it. Stephenson surveyed the line in 1821, that same
year construction of the line began.

Stephenson established a company in Newcastle to manufacture locomotives
for the new line. George's son Robert was the managing director. In September
1825 the works in Newcastle completed the first locomotive for the new railway: it
was named Locomotion. The Railway opened on 27 September 1825. Driven by
Stephenson, Locomotion hauled an 80-ton load of coal and flour in 36 wagons nine
miles (15 km) in two hours, reaching a speed of 24 miles per hour (39 km/h). The
first built passenger car was attached and carried dignitaries on the opening
journey. It was the first time passenger traffic had been run on a steam locomotive
railway.

The rails used for the new line were wrought-iron ones, they could be
produced in much longer lengths than the cast-iron ones and were much less liable
to crack under the weight of heavy locomotives. The gauge that Stephenson chose
for the line was 4 feet 8.5 inches (1,435 mm), and this subsequently came to be
adopted as the standard gauge for railways, not only in Britain, but also throughout
the world. The first public railway line in the Russian empire was opened in 1837,
but the gauge chosen for the line by its designer was 6 feet (1,829 mm).

George Stephenson continued to work on improving the quality of the
locomotives used on the railway lines he constructed. He died at his mansion in
1848.
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1) What is George Stephenson famous for? 2) What education did he get? 3)
When did he design his first locomotive? 4) What types of rails were used on the
first rail ways? 5) What type of rails proved to be the best one? Why? 6) How
much time did it take Stephenson to build the first public railway line? 7) What
was its length? 8) Who took part in the opening journey? 9) When was the first
railway line built in Russia?

3apanue 2. J{ns CIOB W CJIOBOCOYETAaHHWM B YacTH «A» momdepute u
3aMUIINATE aHTJINACKUE DKBUBAJIECHTHI U3 YacTu «by.

A. 1) nerxkoBoit aBTOMOOWIB (,,JIETKOBYIIKA”) 2) rpy30BOM aBTOMOOWIL 3)
aBToOyc 4) cerodop 5) mopoxkHas ,,ipoOka” 6) ocTpas HEXBaTKa TOIUIMBA 7)
aBTOTPAHCIIOPTHOE CPEJICTBO &) CIPOC Ha JIETKOBBIE aBTO 9) pacTyiue IeHbl Ha
torumBo 10) ckopocTHasi aBToMaructpaib 11) necsTUMeTpoBbie OmOphl 12)
NBYXpsAaHbIA 13) orpanuueHue ckopoctd 14) morpebutenu 15) BHYTpeHHUUH
peiHOK 16) rpyna metamia 17) 3anpaska (A3C) 18) Tenedon BbI30Ba MOMOIIM IPH
ype3BbIUaiiHON cutyanuu 19) OecrimatHoe obcnmykuBanue 20) moyioca TOpOrd st
CTOSIHKM MamuH 21) OeH3uH 22) MOopOoKHO-TPAHCIOPTHOE MpoHucIIecTBUE 23)
BOAUTENb — JIuXxad 24) onoJi3eHb 25) CHEeXHbIEe HAHOCKHI 26) muaTuTh mrpadsl 27)
exaTh Ha KpacHbIM curHai ceerodopa 28) neperpy3uTb aBTOMOOUIIb 29) memexo;n
30) momaBaTh cBeTOBOM curHai 31) Heaens 6€301acHOCTH ABMKEHUS 32) IITHUHEL.

b. A filling station; a motor vehicle; to pay fines; a car; a heap of metal;
tyres; to shoot the red light; the demand for cars; a reckless driver; a pedestrian;
domestic market; ten-metre pylons; a lay-by; Safe Driving week; speed limit; a
road jam; to overload the car; growing fuel prices; a highway; to flash the indicator
light; a lorry; a road accident; a bus; emergency telephone; two-lane; traffic lights;
acute shortage of fuel; consumers; free service; petrol; landslide; snowdrift.

3aganme 3. [lepenumure U MEPEBEIUTE MNPEHJIOKECHUSA, B AHTIIMICKOM
NPEJIOKEHUH TOAUYEPKHUTE MOJUIekKAIlee M CKazyeMoe, OMpPEIeInTe ero
BUJIOBPEMEHHYIO (DOPMY U 3aMUINUTE HAYATBHYIO (OpMY.

1. During my stay in the capital | visited many places of interest.2. Our
teacher did not ask me at the last lesson. 3. The laboratory assistant wrote down the
results of his research. 4. In summer they usually play tennis here. 5. In modern
automatic enterprises men only look after automatic units. 6. Our power station
produces a great amount of energy. 7. She will look through these books
tomorrow. 8. The students will not solve this problem without their teacher's help.
9. We shan't speak about it now. 10. Michurin was growing different kinds of fruit.
11. At this time yesterday, they were going to the cinema to see a new film. 12.
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When she was reading this book, she was weeping. 13.We are discussing some
questions. 14. We are exporting industrial equipment to other countries. 15.
Considerable changes are currently taking place in the organization of research in
our university. 16. They will be maintaining constant temperature during the
experiment for two hours. 17. We shall be having an English lesson when you
arrive. 18. At this time tomorrow, they will be very busy. 19. She had studied
French before she entered the University. 20.By the time my friend called me up |
had finished my work. 21. On my way to the University | remembered that | had
left the text-book at home. 22. You have given me some good advice. 23.Atomic
physics has made tremendous progress. 24.0ur laboratory has become a large
research centre. 25.She will have cooked dinner by the time you come back. 26.We
shall have done all the exercises by the time the teacher comes. 27.The teacher will
have looked through all our exercise books by the end of the week. 28.They had
been playing tennis for two hours when he came to the court. 29.1t had been
raining for some days when we started on our expedition. 30.He had been studying
English for two years when he entered our university. 31. | have been reading the
newspaper for 2 hours. 32.My sister has been working at our mill since 1980.
33.We have been observing Mars for a long time. 34.By the first of October he will
have been working at our institute for 25 years. 35.0ur students will have been
studying English for 5 years by the next spring. 36.Chemists had been studying the
atmosphere for about 2000 years before its composition was discovered. 37.We
were shown many places of interest in your beautiful city. 38.This report was
listened to with great interest. 39.He was laughed at. 40.The first-year students are
taught many important subjects. 41.How is the earth protected from the harmful
effect of the ultra-violet rays? 42.Many new houses are built in our city. 43.All the
equipment will be placed in a new workshop. 44.His scientific report will be
discussed at the end of the conference. 45.You will be asked at the next seminar.
46.Before the revolution his work was being looked upon as useless. 47.The
question about the new laboratory was being discussed at a special meeting.
48.The information about weather conditions was being studied by our group for a
week. 49.Now solar energy and its usage are being studied by a lot of research
groups. 50.We are being waited for downstairs. 51.Different kinds of fruit are
being grown in the Polar zone. 52.The experiment had been finished by 5 o'clock
yesterday. 53.His studies had been described in this paper. 54. Various ideas had
been proposed to explain the origin of this planet. 55.My friend has been offered
an interesting job. 56.These experiments have been much spoken of. 57.Plasma has
been intensively studied for about 60 years now. 58.You will have been provided
with all the information you need by the time we meet again. 59.We shall have
been shown many interesting things by the end of our excursion. 60.Valuable
information on the phenomena will have been obtained by the end of the year.

3ananme 4. 3anuiuuTe NpeUIoKEHUs, YNOTpeOsis Iaroyibl B CKOOKax B
HYKHOU (hopMe ycIoBHOTO HakjoHeHus. [lepeBenure npeayioKeHusl.
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1. | should be delighted if I (to have) such a beautiful fur-coat. 2. If it (to
rain), we shall have to stay at home. 3. If he (to work) hard, he would have
achieved great progress. 4. If it is not too cold. I (not to put) on my coat. 5. | (to
write) the composition long ago if you had not disturbed me. 6. If he (not to read)
so much, he would not be so clever. 7. If my friend (to be) at home, he will tell us
what to do. 8. If he were not such an outstanding actor, he (not to have) so many
admirers. 9. If you (to give) me your address, | shall write you a letter. 10. If she
(not to be) so absent minded, she would be much better student. 11. If my sister
does not go to the south, we (to spend) the summer in the capital together. 12. If
they (not to go) to the capital last year, they would not have heard that famous
musician. 13. If you (not to get) tickets for the Philharmonic, we shall stay at
home. 14. If you were not so careless about your health, you (not to consult) the
doctor. 15. If he (to ask) me yesterday, | should certainly have told her all about it.
16. If you (to do) your morning, exercises every day, your health would be much
better. 17. If he is not very busy, he (to agree) to go to the museum with us. 18.1f |
(not to be) present at the lesson, | should not have understood this difficult rule. t9.
If he reads fifty pages every day, his vocabulary (to increase) greatly 20. If they (to
know) it before, they would have taken measures. 21. If | (to get) this book, | shall
be happy 22. If you really loved music, you (to go) to the Philharmonic much more
often. 23. If you had not wasted so much time, you (not to miss) the train. 24. If
you (not to miss) the train, you would have arrived in time. 25. You (not to miss)
the teacher's explanation if you had arrived in time. 26. You would have
understood the rule if you (not to miss) the teacher's explanation. 27. If you (to
understand) the rule, you would have written the test-paper successfully. 28. If you
had written your test-paper successfully, you (not to get) a "two". 29. Your mother
(not to scold) you if you had not got "two". 30. If your mother (not to scold) you,
you would have felt happier. 31. If it (to snow), the children will play snowballs.
32. If I (not to know) English, I should not be able to enjoy Byron's poetry. 33. 1
(not to do) it if you didn't ask me, 34. If men (to have) no weapons, would wars be
possible? 35. You will never finish your work if you (to waste) your time like that.
36. If | (to have) his telephone number, | should easily settle this matter with him.
37. If | (to have) this rare book, I should gladly lend it to you. 38. This dish would
have been tastier if she (to be) a better cook. 39. He never (to phone) you if | hadn't
remined him to do that. 40. Your brother (to become) much stronger if he took cold
baths regularly. 41. If he (to be) more courageous, he would not be afraid. 42. If
the fisherman had been less patient, he (not to catch) so much fish. 43. If you (to
put) the ice-cream into the refrigerator, it would not have melted. 44 If | (to know)
the result now, | would phone her immediately. 45. If you had let me know
yesterday, | (to bring) you my book. 46. If you (to ring) me up, | shall tell you a
secret. 47 If you (to be) a poet, you would write beautiful poetry. 48. If he did not
read so much, he (not to know) English literature so well. 49. If he (to come) to our
house yesterday, he would have met his friend. 50 If he (not to pass) his
examination, he will not get a scholarship.
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3amanue 5. 3anumuTe NpeasioKEHUs, MEHsIA MPSMYIO pedb Ha KOCBEHHYIO.
[TepeBequte TpanchopMUpOBaHHBIC IPEAIIOKEHUS.

1. He said to us: "Come here tomorrow". 2.1 said to Mike: "Send me a
telegram as soon as you arrive." 3. Father said to me: "Don't stay there long." 4.
Peter said to them: "Don't leave the room until | come back." 5. "'Take my luggage
to Room 145," he said to the porter. 6. He said to me: "Ring me up tomorrow " 7.
"Bring me a cup of black coffee,” she said to the waiter. 8. "Don't be late for
dinner,” said mother to us. 9. Jane said to us: "Please, tell me all you know about
it". 10. She said to Nick: "Please, don't say anything to your sister.” 11. The teacher
said to me: "Hand this note to your parents.” 12. Oleg said to his sister: "Put the
letter into an envelope and give it to Kate." 13. "Please, help me with this work,
Henry," said Robert. 14. "Please bring me some fish soup,"” he said to the waitress.
15. "Don't worry over such a small thing," she said to me. 16. "My friend lives in
Rome", said Alec. 17. "You have not done your work well," said the teacher to me.
18. "This man spoke to me on the road," said the woman. 19." | can't explain this
rule to you," said my classmate to me. 20. The teacher said to the class: "*We shall
discuss this subject tomorrow." 21. The woman said to her son: " I am glad, | am
here." 22. Mike said: "We have bought this book today." 23. She said to me: "Now
I can read your translation." 24. Our teacher said: "Thackeray’s novels are very
interesting.” 25. She said: "You will read this book in the 9-th form". 26. Nellie
said: "I read this novel last year.” 27. Masha said: "I usually spend my holidays in
the south.” 28, She said: "I spent my holidays in the Crimea last year." 29. Boris
said: "l go to the south every year." 30. He said: "I am going to the rest-home
tomorrow." 31. Ann said to us: "They haven't yet come.” 32. She said to us: "They
arrived in Paris yesterday." 33. | said: "I was in London last year" 34. Nick said: "I
have never been to London". 35. | said to Nick: "Where are you going?" 36. | said
to him: "How long are you going to stay here?" 37. | said to him: "How long will it
take you to get there?" 38. Peter said to his friend: "When are you leaving the
town?" 39. He said to them: "Who will you see before you leave here?" 40. They
said to him: "What time does the train start?" 41. Ann said to Mike: "When did you
live in London?" 42. She said to Boris: "When will you be back home?" 43.1 said
to Boris: "Does your friend live in London?" 44. | said to the man: "Are you living
in hotel? " 15. Nick said to his friend: "Will you stay at the hotel?" 46. He said to
me: "Have you sent them a telegram?" 47. She said to me: "Did you send them a
telegram yesterday?" 48. | said to her: "Can you give me their address? " 49. |
asked Tom: "Have you had breakfast?" 50. | said to my mother: "Did anybody
come to see me?”
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TABJINIJA BAPUAHTOB
JlomatiHsst koHTposibHast pabora ummeer 100 BapuanToB. OOyuarommecs
BBITIOJTHSIIOT TOJIBKO OJWH BapHaHT KOHTPOJIBHOM pabOThl, HOMEpP BapUaHTa
COOTBETCTBYET MOCJICTHUM JABYM IT(dpaM HOMEpa 3a4€THON KHUKKH.

Homep Saname | 3aganus Homep Sananme | 3amanus

BapHaHTa 3,4,5 BapuaHTa 3,4,5
01. Teker 1 11,12,13,14,15 51 Teker 3 2,5,8,11,14
02. Texcr 2 1,2,3,45 52 Texcr 4 17,20,23,26,29
03. Tekcr 3 6,7,8,9,10 53 Texker 1 32,35,38,41,44
04. Tekcr 4 16,17,18,19,20 54 Teker 2 1,7,9,47.50
05. Teker 1 21,22,23,24,25 55 Teker 3 2.17,21,33,36
06. Tekcr 2 26,27,28,29,30 56 Tekcr 4 1,16,31,32,44
07. Tekcr 3 31,32,33,34,35 57 Texker 1 3,18, 22,34,37
08. Teker 4 36,37,38,39,40 58 Tekcr 2 4,6,19,23,35
09. Teker 1 41,42,43,44,45 59 Tekcr 3 5,7, 20, 24,26
10. Tekcr 2 46,47,48,49,50 60 Tekct 4 8, 11,25,27,40
11. Tekcer 3 1,6,11,16,21 61 Texker 1 9,12,28,44,50
12. Tekcr 4 26,31,36,41,46 62 Texcrt 2 10,13,29,45,49
13. Tekcr 1 1,11,21,31,41 63 Tekcrt 3 14,15,30,39,41
14. Texcr 2 2,12,22,32,42 64 Texkcr 4 6,12,18,24,30
15. Texkcr 3 3,13,23,33,43 65 Texcer 1 7.14,36,42,48
16. Tekct 4 4,14,24,34,44 66 Texcr 2 21,28,35,42,49
17. Tekcr 1 5,15,25,35,45 67 Tekcrt 3 1,8, 16,24,32
18. Tekcr 2 6.16, 26,36,46 68 Tekcer 4 1,9,18,40,48
19. Texkcr 3 7,17,27,37,47 69 Texcer 1 27,36,45,48,50
20. Tekcr 4 8,18,28,38,48 70 Tekcr 2 1,9,14,24 .42
21. Texcer 1 9,19,29,39,49 71 Texcr 3 2,8,31,32,33
22. Texcr 2 10,20,30,40,50 72 Texcr 4 3,20,21,40,41
23. Tekcer 3 10, 19,28,37,46 73 Tekcr 1 10,11,25,26,39
24. Texcrt 4 9,18,27,36,45 74 Texcr 2 4,13,18,43,44
25. Texcr 1 8,17,26,35,44 75 Texcr 3 19,22,23,34,45
26. Tekcrt 2 7,16, 25,34,43 76 Tekcr 4 5,12,15,38,49
27. Tekct 3 6, 15,24, 33,42 77 Tekcr 1 27,29.30,35,50
28. Texcrt 4 5,14,23,32, 41 78 Texcr 2 6,17.36,37.46
29. Texcr 1 4,13,22,31,40 79 Texcr 3 7,16,28,47,48
30. Texker 2 6,17,28,39,50 80 Texkcr 4 1, 3,10, 32, 43
31. Tekcr 3 5,16.27,38,49 81 Texkcer 1 2,13.24.25,41
32. Tekcr 4 4,15,26,37,48 82 Tekcr 2 9,18,20,31,39
33. Teker 1 3,14,25,36,47 83 Teker 3 4,8, 14,26, 40
34, Tekcr 2 2,13,24,35,46 84 Tekcr 4 11,21,33,42,44
35. Tekcer 3 1,3,5,7,9 85 Tekcr 1 16,19,29,38,46
36. Tekcr 4 11,13,15,17,19 86 Tekcr 2 6, 12,30,34,47
37. Teker 1 21,23,25,27,29 87 Teker 3 5,7,17,23,35
38. Tekcr 2 31.33,35,37,39 88 Tekcr 4 1.5,27,36,45.48
39. Tekcr 3 41,43,45,47,49 89 Texkcer 1 22,28,37,49, 50
40. Tekct 4 2,4,6,8, 10 90 Texct 2 8, 20, 25, 43, 47
41. Teker 1 12,14,16,18,20 91 Teker 3 13,19,33.39,40
42. Tekcr 2 22, 24,26, 28,30 | 92 Tekcr 4 18,21.26,34,38
43. Tekcr 3 32,34,36,38,40 | 93 Texkcer 1 4,11,12,23,29
44, Tekcr 4 42,44,46,4850 | 94 Tekcr 2 5,30,44,45,46
45, Teker 1 3,6,9,12,15 95 Teker 3 12, 19,28, 35,36
46. Tekcr 2 18,21,24,27,30 96 Tekcr 4 1,8, 18,37,49,50
47, Tekcr 3 33,36,39,42, 45 97 Texkcer 1 3,13,21,26,40
48. Tekcr 4 4,8,12,16.20 98 Teker 2 7,13,19,29,31
49, Teker 1 24, 28,32,36,40 99 Teker 3 10, 16, 19,20,47
50. Tekcr 2 13,43,44,48,49 100 Tekcr 4 7,16, 25,34,43
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